
Day 4



 Underline the expanded noun phrase in these 
sentences. 

 The young man ran towards the enormous 
tree.

 Annie had bright, blonde hair that sparkled 
like the blazing sun. 

 Write two more of your own sentences using 
an expanded noun phrase. 
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 Today you will be planning a different ending 
Iron Man. 





The Iron Man challenged space-bat-angel-dragon to a test of strength. The dragon could not believe his ears as the 
Iron Man was smaller and tinier than him.

The space-bat-angel-dragon got his first shock. The Iron Man was stretching himself out on his back, on the grid, 
among the flames (that were lit with petrol by the engineers), his ankles crossed, his hands folded behind his head –
just as if he were in bed, while the flames raged under and around him. The Iron Man was red hot, his eyes and lips 
were white-hot.

Suddenly, the flames died slowly, he cooled slowly. He went from white to orange, from orange to red, red to black, 
as he walked, coolly swinging his arms.

He challenged the dragon to lie on red hot flames. He pointed at the sun, and asked him to lie there. The dragon 
slowly flew towards the sun appearing smaller and smaller. Blue at first, then red, then orange. Finally, his shape was 
invisible, the same blazing white as the sun itself. The monster was white-hot on the sun. Slowly once more it 
became the black bat-winged shape of the dragon flying back to earth, down and down, bigger and bigger, cooling as 
he came, until landed much heavier than before, on Australia. His horns drooped, his face was wizened and black, his 
claws were scorched blunt, his crest flopped over limply and great ragged holes were burned in his wings.

Once more the engineers built a fire, and Iron Man stretched himself out on the grid of the raging furnace. He was 
burning like the blazing wire inside an electric bulb. He then cooled off, and challenged the dragon to go towards the 
sun once more. He went up, and came down again to Earth. His bump was heavy and knocked the sky-scrapper, sent 
tidal waves sweeping into harbours, and threw herds of cows on their backs. His skin was crisped,  his fatness has 
been changed by the fires into precious stones.

The dragon shouted, “enough, enough!” to Iron Man, but the Iron man still wanted to keep going. The dragon 
surrendered, and was at last the slave of Iron Man and to the Earth. He could not bare to go back to the red, hot 
blazing sun anymore. He cooled himself down in the pacific.

And so it was fixed. The space-bat-angel-dragon was to send his star back into the constellation of Orion, and he 
was to live inside the moon. And every night he was to fly around the earth, through the heavens, singing. Meanwhile, 
Iron Man was the world’s hero and went back to his scrap yard.

Then suddenly the singing led the world becoming peaceful.

The strange soft eerie space-music began to alter all the people of the world. They stopped making weapons. The 
countries began to think how they could live pleasantly alongside each other, rather than how to get rid of each other. 
All they wanted to do was to have peace to enjoy this strange, wild, blissful music from the giant singer in space.



 Cliff Hanger

 Shock factor/Twist

 Mystery

 Reflective/Summary/Moral

 Look at your endings from yesterday, and 
think about which one you would like to use 
and why? Is it effective? What type of an 
ending is it?



Characters in end ending
Time of day
Dilemna
What has Changed?
Was happens in the end? Was the 
problem solved? Are the characters 
happy?



We can use the one when Iron Man meets Iron giant, they looks alike, no one could 
tell them apart. Iron man and the giant need to defeat the  nasty, man eating, 
whereas Space-bat-angel- dragon , is the opposite, he is harmless, wants to save 
the world. Iron defeats the giant, and the giant changes, he wants to befriend Iron 
Man and wants the world to like him, and together they defeat the Space-bat-angel-
dragon.

Characters in the ending – Iron Man, Iron giant, engineers, farmers, Hogarth

Time of day – dusk

Dilemma – The Iron Man meets the Iron giant who looks like him, but is the total 
opposite. He is a villain, colossal, nasty man eating giant, and Iron Man needs to 
prove that he is the hero , not the villain. However he needs the giant help him 
defeat the dragon.

What has changed – The character – instead of space-bat-angel-dragon, Iron man 
meets Iron giant. They give each other a series of challenges, and Iron Man is to 
prove that he is a hero.

Was happens in the end? Was the problem solved? Are the characters happy?
Iron Man saves the world from the giant, and proves he is the hero, and the Iron 
giant is a villain. The villain then wants to be liked by the world, so he changes and 
befriends the Iron Man. Together they then defeat the space-bat-angel-giant.



 Now write your plans under similar 
subheadings.

 Characters in end ending

 Time of day

 Dilemna

 What has Changed?

 Was happens in the end? Was the problem 
solved? Are the characters happy?


